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1	Introduction
In RAN4 95-e, the topic of UE behaviour under certain cases in cell detection and serving cell measurement has been discussed. Companies’ views were summarized in WF [1], the content copied below: 
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This paper discusses the open issues listed above in the WF and provide our view.
2	Pending issues

Issue 1-3:	Max number of unavailable SMTC occasions during measurement before UE detects the cell again
From the discussions during last meeting, some companies agree to have N = 3 and some agreeing N = 2. As to the value of N, we think N = 3 would be reasonable. Having N too small would force the UE to go back to detection stage and will eventually consume more power from the UE and decrease network efficiency at the same time. Having N too small may also cause ping-pang effect in some cases. 
Here the intention is not to trigger such behavior too often so a slightly larger value of N would mean that the UE is more tolerant to unavailable SMTC periods and the UE doesn’t have to detect the cell all over again too often. Thus, we propose that N = 3 to provide more tolerance to LBT failures.
N = 3 to provide more tolerance to LBT failures.
3	Conclusion
Proposal 1: N = 3 to provide more tolerance to LBT failures.
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Topic #1: Cell re-selection (Al 6.1.5.2)
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* For a cell that is already identified, after N unsuccessful measurement
attempts due to exceeding the max number of unavailable SMTC occasions,
UE needs to detect the cell again.
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